3|
=1

rr

1. 24909 FHA(2),B(6)= o> A= ABE 3: 12 H&o}
P o} e]&st= A Q Atole] AR E Fotof et

D
=%



2. the I ol vl W AG. 1), B, 3), 4
Cla, ).0(0, 0)& HAHOZ Shegast | B3
M5 OABCONA a + b9 FH Fotolat. %

A3,1)




cm



4. A Yo A H 0(0,0) , A(3,1),B(1,3) o st AR
OA,AB,BO & 2 : 1 & YEsSt= H2 A& 2 P,Q,R =2 & o,
APQR °] FAIGA S 8=

@) (7,2> @ (1,-1) ® (1,1)

o)) (i)



The 13 Zol Al 1 A(2, 6), B(-2, 2),
C(4, 4) B BAHOZ 3= AABC 9|4

LA 9] o] 5EAlo] ¥ BC ¢ Th= M
P(a, b) 2t & ), 3ab ] Gt

D 10 @ 15 3 20
@ 25 ® 30

v} A@.6)
ﬁcu,@
Z P(a,b)
B(>2.2)
(6] Z




